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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 522 2) 5,783 3 59 4 767
- 1 - 3,140 - 36 - 502 2
3
4,
5 7,123 6 43 7 769 8 7,821 >
-1,010 -2 =340 - 4,200 6
7.
8.
9 53 10) 889 11) 5,326 12) 38 9
- 22 -223 -4,003 - 20
— — — — 10,
11,
12,
13) 243 4 7,197 15) 22 16) 592 13.
-110 -5,075 -1 -411
- - T - 14,
15.
16,
17) 4,264 18) 53 190 571 20) 5,253 17
-1,111 -40 - 340 -1,120
18,
19,
20.
1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
N 521
1) 522 2 5,783 3 59 4 767
-1 - 3,140 - 36 - 502 , 2643
521 2.643 23 265
3, 23
4 265
5 7.123 6) 43 7 769 8 7.821 > 6113
-1,010 -2 - 340 - 4,200 6. 41
6,113 41 429 3.621
. 429
8. 3621
9 53 100 889 1) 5326 12) 38 0, 31
- 22 - 223 - 4.003 - 20 666
31 666 1,323 18 10
1 1323
12, 18
13) 243 14) 7,197 15) 22 16) 592 13, 133
- 110 -5.075 -1 - 411
133 2122 21 181 . 2122
15. 21
16. 181
17) 4,264 18) 53 19 571 20) 5,253 - 3153
-1,111 - 40 - 340 -1,120
3,153 13 231 4,133 18, 13
19, 231
0. 4133
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
23 3621 18 41
666 2643 1323 6113 1.
521 31 265 429
2.
1) 522 2 5,783 3 59 4 767 3.
- 1 - 3,140 - 36 - 502
- — — — 4,
5.
6.
7.
8.
5 7,123 6) 43 ) 769 8 7,821 9,
-1,010 - 2 - 340 - 4,200
- - - - 10.
11.
12.
9 53 10) 889 1) 5,326 12) 38
- 22 - 223 -4,003 - 20
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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